
2 x MR63-W2
Radial Bearing 3X6X2
Loctite 648

 DR0822
 Shim 4.75X6 W0.2

 DR0426
 3x4x0.15 Shim Washer   

 F3-6G-W3.5
 Thrust Bearing 3x6 W3.5

STEP 2

2 x OR-2X1 
O-Oring ID 2 - W 1

DR1081
Mini Protos - Tail Hub

  2 x DR0426
  3x4x0.15 Shim 
  Washer   

STEP 3
2x DR1080
Mini Protos - Tail Grip

2 x DR1046
Washer 2 X3.5 W 1

2 x Hex Cup Screw M2X6
Loctite 242

Step 1Step 2

Loctite 242
After Blade Install

 Set Screw  
 M3X3

Loctite 242
After Tail 
Shaft Install

Install Tail Balde and 
Lock With Supported
2 x M2X10  Bottom Hex 
Cup Screw 

2 x Hex Cup Srew M2X8

 Apply grease on 
 thrust bearing

 larger ID smaller ID

THRUST  BEARING
INSTALLATION  DIAGRAM

-Picture bottom show Lynx MP tail rotor hub 
assembled with Lynx tail pitch slider.
-Add Loctite 242 (medium) on screws M2 x 8
-In case you will use STD MP tail pitch slider refer 
to MP user manual

STEP 1

STEP 4

Assembly Finish

Assembly Note

LYNX MANUAL DOC .REV .A 19-04-2014
LX0896  MINI PROTOS - Ultra Tail Rotor Hub - Thrusted - Silver
LX0897  MINI PROTOS - Ultra Tail Rotor Hub - Thrusted - Red
LX0898  MINI PROTOS - Ultra Tail Rotor Hub - Thrusted - Black    
 

HELI  INNOVATIONS


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6
	Drawing View7
	Drawing View8


